BERG

NHCTpYKLMSA NO YCTAaHOBKE

Toyota Land Cruiser 200

(2007-)

ApT.: F.5713.001
F.5713.003

h ‘ [\ x
) - D = 10,1 kN @
1500 kg 75 kg



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

& BKpYTUTb/BbIKPYTUTbL UCMONb3YSI MHCTPYMEHT snnap | [IBMKEHME ‘

MNMosopoT

BKpYTUTb/BLIKPYTUTb HE 3aTArMBas memm) | PacrionoONKEHME
.-

Mcnonb3yeMblii UHCTPYMEHT:

S-17;
S-19;
S-24



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

Bl | « | sona

Ed | xt | Kporuwreiin nessii f‘;
EJ | xt | Kponuwreiin npassii

n x1 | Kpiok

E x1 | MoaposeTHuk

|« | v

x2 | M16x110

EY | x4 | M12x1,25x40

E) | x6 | Mi2x1,25x50

B | x2 | M12x1,25x70

PE | x10 | 12

fP] | x12 | 212 >
IE] | x2 | M12x1,25
FE] | x2 | o16
] | x2 | m16 s
i | x4 | 212



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

=—_——_———————
———————————— =

—p

0 0

o W
1



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

s
12

e
— I\t
NGRS

6



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

15

M12=81 Nm M16 =157 Nm



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/



